DIvISION WITH A REMAINDER II (H - SET 5)

TEST 3 1;?;6 Score: yA—
N 4489 + 10 = 16) 40272 +9 =
2 9037 = 10 = 17 67253 - 8 =
3 617 =5 = 18 6752 =6 =
4254 + 5 = 19 253+ 1=
5 9382 = 3 = 200 17388 =3 =
6 13978 — 3 = 21) 5611 + 10 =
7 54058 =+ 10 = 2) 9142 =+ 10 =
535042 -4 = 2 2308 =5 =
9 834 =~ 6 = 20) 4036 =5 =
1017940 = 5 = ) 99850 + 6 =
2181 + 10 = 200 56983 + 10 =
12) 3748 = 10 = 1) 27273 = 3 =
13) 997 = 5 = 28) 9385 =2 =
1) 4657 + 5 = 2 237 +5 =
15 49910 = 5 = 30 39094 +— 6 =
Mathematics: Division - Level § - Horizontal - Set 5 28 cul
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